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(2) Energy eigenvalue * Phase modulation.

is t-independent.

1- 4. time- dependent Expectation value ·
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=> even though 19 toit) , the expectation value is- independent.

Energy eigen state (19)) -> stationary state. stationary.
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=> an coherent electronically excited state
is a dynamic

state that oscillates between the ground & excited state.

1) Pump -> excite the sys, into a pump-probe

coherent superposition. 3 probe measure how sys 3) the detectedsigny
elvoves oscillates in timee.

1 - 5. spin precession. (19 , toit)

# for spin2 sys.
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magnetic dipole moment.

u = r. 5

: Angular momentum of particle
V

gyromagnetic ratio

classic : related to particle's charged mass.

by v= g-factor (-2)zmC
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more quantum : for e-u=
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